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One might argue that ideally a game should come down to an equal pawn ending with the decision hinging on the relative dynamic potential of  pawn majorities.  In Nakagawa-Day 1978 Black has a passed pawn while White has a distant pawn majority.  Can you accurately calculate how White could use his pawn mass to queen a pawn?
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  While most interest at the 2006 Corus event centred around the A Division in which Anand and Topolov tied for first place, the B Division provided a number of spectacular games as well as a intense battle for first place.  Norway’s teenage sensation Magnus Caarlsen led for most of the event but in the end had to be satisfied with a share of first prize with Alexander Motylev (Russia) both on 9/13. 

  Here is a B Division game that has everything. Starting with a thematic Ruy Lopez White to builds up a frightening kingside attack while Black gains a potential endgame advantage on the queenside.  Sacrifices bring White close to mating only to be thwarted by an inspired counter sacrifice by Black leaving one passed pawn as the decisive factor:

G. VESCORI  -  E.  L’AMI

2006 Corus (B Div) Rd 12

Ruy Lopez, Closed Defence, 

 1    e4  
e5 


 2    Nf3  
Nc6

 3    Bb5  
a6  


 4    Ba4  
Nf6

 5    0-0  
Be7 


 6    Re1  
b5

 7    Bb3  
d6  


 8    c3  
0-0

 9    h3  
Bb7(a) 

10   d4  
Re8

11   Ng5  
Rf8 


12   Nf3  
Re8

13   Nbd2 
Bf8 


14   a4  
h6

15   Bc2  
exd 


16   cxd  
Nb4

17   Bb1  
c5  


18   d5  
Nd7

19   Ra3  
c4  


20   axb  
axb

21   Nd4 
Qb6 


22   Nf5 
Ne5

23   Rg3 
g6 


24   Nf1 
Nbd3

25   Be3 
Qd8 


26   f4  
Nxb2(b)

27   Qd2  
Ned3 


28   Bd4 
Qa5

29   Bc3  
Qb6+ 


30   Kh2  
Na4

31   Bxd3 
cxd3 


32   N1e3  
Nxc3

33   Qxc3  
h5  


34   Qxd3  
Ra4

35   Qd1  
Kh7  


36   Rg5  
Raxe4

37   Rxh5+! 
Kg8(c)  

38   Ng4!!(d) 
Bg7

39   Nxg7!!  
Rxe1 


40   Nxe8!! 
Qg1+!(e)

41   Kg3 
gxh5!! 


42   Nef6+  
Kf8

43   Qc2 
hxg4  


44   Qc7(f)  
Re3+

45   Kh4  
Qe1+ 


46   Kh5 
Kg7

47   Qxd6 
gxh3 


48   Ng4 
Qd1

49   f5??(g) 
Qxg4+!!  

50   Kxg4 
hxg2

51   f6+  
Kg6 


52   Qh2  
Re5!

White resigns(h)

a)  The Flohr-Zaitsev Variation which was extensively used by Karpov in his matches with Kasparov. Nunn in NCO gives the position to 21...g6 as equal.  ‘The immediate attacking chances lie with White but, if Black can survive the onslaught, then his queenside superiority is often enough to win’ (Nunn). 

b) Black wisely avoids capturing the rook, instead obtaining united passed pawns and maintaining his active knights to nullify White’s bishops.  

c)  If 37...gxh5?  38 Qxh5+, Kg8  40 Ng4! mates.

d)  Threatening 39 Nf6#.

e)  Not 40...Rxd1?  41 Nef6+, Kg7  42 Rh7+, Kf8  43 Rh8+, Ke7  (43...Kg7  44 Rg8#) 45 Re8#.

f)  White is a rook down but his queen, knight and pawns are able to conjure up mating threats -  45 Qd8+, Kg7  46 Qg8+! Kxf6  47 Qg5#.

g)  Threatening mate with 50 Qh6+, Kg8  51 Qxe3 and 50 f6+, Kh7  51 Qf8 but allowing Black the opportunity of a brilliant table-turning counter sacrifice.  White could have drawn by 49 Qh6+, Kg8  50 Qg5+, Kf8  52 Qd8+, Re8  53 Qd6+, Re7  54 Qd8+.

h) The g pawn will cost White his queen.

SOLUTION:  1 h5! Kb6  2 g5, fxg 3 fxg, hxg  4 h6.  White instead played 1 g5? when after 1...fxg  2 fxg, h5 Black had halted the pawn march and went on to win.

